EERE =R

BUTE D 12 (1AL 57 1) X JE 4 PRI 0D i1 2 (40140 45 i)

T 4 H X 4
F/NHET=TH 55 & 5 152 152.5
F/ANHET=TH 55 & 6 152 1526
F/NHET=TH 55 & 7 152 152.7
F/ANHET=TH 55 & 8 152 1528
F/ANHET=TH 55 & 9 152 152.9
F/NHET=TH 55 & 10 152 152_10
F/NHET=TH 55 & 11 152 152.11
F/NHET=TH 55 & 12 152 152.12
/AT =TH 55 & 13 152 152.13
F/NHET=TH 55 & 14 152 152_14
F/NHET=TH 55 & 15 152 152_15
/AT =TH 55 & 16 152 152_16
F/ANHET=TH 55 & 17 152 152_17
F/ANHET=TH 55 % 18 152 152.18
F/NHET=TH 55 & 19 152 152.19
F/NHET=TH 55 & 20 152 152.20
F/NHET=TH 55 & 27 152 15227
F/NHET=TH 56 %& 13 153 153.13
F/ANHET=TH 56 & 14 153 153_14
F/ANHET=TH 56 & 15 153 153.15
F/NHET=TH 56 & 16 153 153.16
F/NHET=TH 56 & 17 153 153_17
F/NHET=TH 56 % 18 153 153.18
F/ANHET=TH 56 & 19 153 153.19
F/NHET=TH 56 & 20 153 15320
/T =TH 56 & 21 153 153.21
/NI =T H 56 & 22 153 153.22
F/NHET=TH 56 #& 23 153 153.23
F/ANHET=TH 56 & 24 153 15324
/T =TH 56 #& 25 153 153.25
F/NHET=TH 56 & 26 153 15326
F/NHET=TH 56 & 27 153 153.27
F/NHET=TH 56 #& 28 153 153.28
F/NHET=TH 57 %& 4 158 158 4
/T =T H 57 & 5 158 158 5
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EERE =R

BUTE D 12 (1AL 57 ) X JE 4 PRI 0D Hi1 2 (40140 53 RiT)

T 4 A X 4
F/NHET=TH 57 & 6 158 1586
F/NHET=TH 57 & 7 158 158.7
/T =T H 57 %& 8 158 1588
F/NHET=TH 57 & 9 158 1589
F/NHET=TH 57 & 10 158 158.10
F/NHET=TH 58 & 3 159 1593
F/NHET=TH 58 & 4 159 159 4
F/ANHET=TH 58 & 5 159 159 5
F/ANHET=TH 58 %& 6 159 159 6
F/NHET=TH 58 & 7 159 1597
F/NHET=TH 58 % 8 159 159 8
F/NHET=TH 58 & 9 159 159 9
/AT =TH 58 & 10 159 159_10
F/NHET=TH 58 & 11 159 15911
/AT =TH 58 & 12 159 15912
/AT =TH 58 & 13 159 159.13
F/NHET=TH 58 & 14 159 159 14
F/NHET=TH 58 & 15 159 15915
F/NHET=TH 59 & 4 160 160_4
F/NHET=TH 59 & 5 160 1605
F/NHET="TH 59 & 6 160 160_6
F/NHET="TH 59 & 7 160 160_7
F/NHET=TH 59 & 8 160 160_8
F/NHET="TH 59 & 9 160 1609
F/NHET="TH 59 & 10 160 160_10
F/NHET=TH 59 & 11 160 160_11
F/NHET="TH 59 & 12 160 160_12
F/NHET="TH 59 & 13 160 160_13
F/NHET="TH 59 & 14 160 160_14
F/NHET="TH 59 & 15 160 160_15
F/NHET="TH 59 & 16 160 160_16
F/NHET="TH 59 & 17 160 160_17
F/NHET="TH 59 & 19 160 160_19
F/NHET="TH 59 & 21 160 160_21
F/NHET="TH 60 & 3 161 1613
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EERE =R

BUIED H 2 (Bt AL 53 1) X T B R D 1 2 (H 1AL 53 AIT)

WES % S 1% 4
F/NMBEIT=TH 60 & 4 161 1614
F/NMHEIT=TH 60 & 5 161 1615
F/NMBEIT=TH 60 & 6 161 161.6
F/NMBEIT=TH 60 #& 12 161 161_12
F/NMBEIT=TH 61 & 4 163-2 163-2_4
F/NMBEIT=TH 61 & 5 163-2 163-2_5
F/NMBEIT=TH 61 & 6 163-2 163-2_6
F/NMHEIT=TH 63 & 2 163-1 163-1_2
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